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	1
	I can add two, 2-digit numbers up to 50 

	2
	I can add two, 2-digit numbers up to 100

	My effort today: 
	Needed to be better
	Was good
	Gave me a ‘Sense of Pride’

	Vocabulary 
Sum, Plus, Add, Addition: Combining two or more numbers to find the total. . 


Step 1: I can add two, 2-digit numbers up to 50
1) 26 + 12                                                                2) 13 + 12
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3) 35 + 14                                                               4) 24 + 23
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5)  31 + 17                                                               6)   23 + 26                                                                                                        
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Step 2: I can add two, 2 digit numbers up to 100
1) 46 + 22                                                                2) 56 + 31
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3) 37 + 32                                                               4) 64 + 24
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5)  72 + 27                                                               6)   83 + 16                                                                                                        
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